[image: image1.png](1) Brown Corpis considering buying 2 new press with a ot installed price of 22 millon.
The old press (which wil be old ifthe new one is purchased) cost $2.1 millon 10 years
g0 2nd can be sold for $1.0 millon today. If the new press is purchased, Brown Corp
expects salls o increzse by $1.6 millon each year for the next five years operating costs
are 60% of ssle), Brown Corp's CCA rae i 15%, and is tax rae i 30%. It cont of
capital s 10%. (Yo can assume that the old pres i fully depreciated, that , it book
value=d)

Ectmate the NPV ofthe new pres.
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[image: image2.png]@) Bink Inc s total assets of 25,000,000 (Twenty-fve million). EBIT i expeced o be.
$4.500.000. Assume 3 fax rate of 0%. For various debt-to-tfal asset ratio shown,
‘below, Pink Ine has esimated it cos of debt, equity shares outtanding. and cost of

equity.
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@) Calculte eamings pe sharefor each debt ratio.

®)  Whatis the optimal capial stacture (debt ratic)? Assume that the EPS i paid out every.
‘yearto shareholdersin perpeuity (with zero growth).
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[image: image3.png]) Black Enterprize ha: he following fnancing informtion:

Long-term debe: The company can raise S millon by sllng 10-year bonds at par value
‘with 3 coupon interet of 6%. These bonds pay semi-snmual coupons.

Common equity: The firm’s EPS next year i expected to be §3.00, with a projected
long-term snmal rovth rte of 3%. Dividend: ae expected to sversgs 40% of exmings.

Black’s mst recent share price was $15 per share.

Capital structure: Black goalis inance allprojects with 3 debt-o-equity ratio of 0.4

Tax: Black Baterprises has 2 tax rae of 30%.

Caleulste Black’s WACC.
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[image: image4.png]@)  GreenCo.

Tnflationis bad for capital nvestment because, among othe things, i reduces the value ofthe
‘depreciaion tax -hieldcaleulated on 3 historical cost asic. o other words, while sles 3nd other
‘expenses may increzce in andem with iflation ((us preserving real § value), he depreciation.
amout i not sllowed to be adjusted fo inflstion. Hence,th resl value of depreciation tix
“hield fall with inflstion.

‘Suppose that in order to encourage investment, he government supplies 3 rant of X
‘What should S be such tha fim ABC is exactly compensated fo the los of profiabliy due to
infltion?

'ABC has depreciation D=$400 per year for N=10 years, and it real costof capital = %
‘The relevant fax rate i 30% and iflaion s expected f be 3% per yea for e next en years.
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) Red'sbeta (B)is 13. Therisk-free rate (R is 6%, and the expected refum on the
market (Ragis 11%.

@ Whatis Red's costof aquity?

() Assume tat inlaton bas increases by 1%, increasing Ry and Ry to 7% and 12%
sespactivly. Whatis the new cost of equity or Rad?

(© Assume that investors have become more rick averse and that 32 3 resilt, the
expected market retumm haz incresced to 13%. Wht is he nevw cost of aquity for Red?
Assume that Reis 6%.

(@ What can you say about the impact of higher infaton and risk-aversion on the
costof equity?
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Both ncrease Ke, but forHigh beta stocks (>1), icrease nris-aversion has bigger
impact




